Beginning of Undergraduate Record

## CITYU OF SEATTLE UGRD OFFICIAL TRANSCRIPT

Name: Thomas, Iris 'Risa' M.

Student ID: 20050336

Print Date: 01/25/2024

Transfer Credits

Transfer Credit from Grays Harbor College

Spring 2004-2005 Applied Toward BS in Business Administration Program Course Description Earned Grade **Points** BC Critical Thinking 5.000 5.000 3.2 16.000 301 Spring 2004-2005 HR 440 Human Resource 5.000 5.000 3.4 17.000 Course **Description** Earned Grade **Points Attempted** Development **CWRT** 5.000 100 College Writing 5.000 TC 0.000 **GPA Units Points Attempted** <u>Earned</u> Transfer ELECTIVE 100 For Lower Division 35.000 35.000 TC 0.000 Term GPA 3.300 Term Totals 10.000 10.000 10.000 33.000 Electives Transfer Term GPA 85.000 85.000 0.000 0.000 Transfer Totals HU 100 LD Humanities 3.000 3.000 TC 0.000 Transfer Combined GPA 3.300 Comb Totals 95.000 95.000 10.000 33.000 HU 100 LD Humanities 3.000 3.000 TC 0.000 Transfer **Attempted** Earned **GPA Units Points** HU 100 LD Humanities 3.000 3.000 TC 0.000 Cum GPA 3.300 Cum Totals 10.000 10.000 10.000 33.000 Transfer HU 100 LD Humanities TC 3.000 3.000 0.000 Transfer Cum GPA Transfer Totals 85.000 85.000 0.000 0.000 Transfer Combined Cum GPA 95.000 95.000 10.000 33.000 3.300 Comb Totals HU 100 LD Humanities 3.000 3.000 TC 0.000 Transfer Academic Standing Effective 10/17/2005: Good Standing NS 100 LD Natural Science 5.000 5.000 TC 0.000 Transfer NS 100 LD Natural Science 5.000 5.000 TC 0.000 Summer 2005-2006 Transfer Course Description Attempted Earned Grade Points | NS LD Natural Science TC 100 5.000 5.000 0.000 MTH 3.7 155 College Algebra 5.000 5.000 18.500 Transfer LD Social Science TC SS 100 5.000 5.000 0.000 **Attempted** Earned **GPA Units Points** Transfer Term GPA 3.700 Term Totals 5.000 5.000 5.000 18.500 SS 100 LD Social Science 5.000 5.000 TC 0.000 Transfer Transfer Term GPA Transfer Totals 0.000 0.000 0.000 0.000 SS 100 LD Social Science 5.000 5.000 TC 0.000 Combined GPA 3.700 Comb Totals 5.000 5.000 5.000 18.500 Transfer Course Trans GPA: 0.000 Transfer Totals: 85.000 85.000 0.000 **Attempted** Earned **GPA Units Points** Cum GPA 3.433 Cum Totals 15.000 15.000 15.000 51.500 Degrees Awarded Transfer Cum GPA Transfer Totals 85.000 85.000 0.000 0.000 Undergraduate Certificate Degree: Confer Date: 03/31/2008 Combined Cum GPA 3.433 Comb Totals 100.000 100.000 15.000 51.500

Academic Standing Effective 10/17/2005: Good Standing

Degree GPA: 3.220 Plan: Marketing Bachelor of Science Degree: Confer Date: 09/30/2010

Degree GPA: 3.105

Plan: **Business Administration Major** Plan: Marketing Emphasis

# CITYU OF SEATTLE UGRD OFFICIAL TRANSCRIPT

Name: Thomas,Iris 'Risa' M.

		Fall 2005	5-2006									
Course		<u>Description</u>	Attempted	Earned	Grade	<u>Points</u>			Attempted	<u>Earned</u>	GPA Units	<u>Points</u>
BC	302	Writing For The	5.000	5.000	2.9	14.500	Term GPA	2.800 Term Totals	5.000	5.000	5.000	14.000
HR	405	Professions Strategic	5.000	5.000	3.4	17.000	Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000
TIIX	403	Management Of Hr	3.000	3.000	5.4	17.000	Combined GPA	2.800 Comb Totals	5.000	5.000	5.000	14.000
			Attempted	<u>Earned</u>	GPA Units	<u>Points</u>			Attempted	Earned	GPA Units	<u>Points</u>
Term GPA		3.150 Term Totals	10.000	10.000	10.000	31.500	Cum GPA	3.071 Cum Totals	35.000	35.000	35.000	107.500
Transfer Term	n GPA	Transfer Totals	0.000	0.000	0.000	0.000	Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000
Combined GP	PA	3.150 Comb Totals	10.000	10.000	10.000	31.500	Combined Cum GPA	3.071 Comb Totals	120.000	120.000	35.000	107.500
			Attempted	Earned	GPA Units	<u>Points</u>	Academic Standing Effect	tive 08/15/2006: Good Standing				
Cum GPA		3.320 Cum Totals	25.000	25.000	25.000	83.000						
Transfer Cum	GPA	Transfer Totals	85.000	85.000	0.000	0.000		Fall 2006				
Combined Cur	m GPA	3.320 Comb Totals	110.000	110.000	25.000	83.000	<u>Course</u>	Description	Attempted	Earned	<u>Grade</u>	Points
	r. =	04/45/0000 0 10: "					MK 300	Marketing Fundamentals	5.000	5.000	2.8	14.000
Academic Sta	nding Effecti	ve 01/15/2006: Good Standing							Attempted	Earned	GPA Units	<u>Points</u>
		Winter 200	05-2006				Term GPA	2.800 Term Totals	5.000	5.000	5.000	14.000
Course		<u>Description</u>	Attempted	Earned	<u>Grade</u>	<u>Points</u>	Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000
BC	303	Interpreting Statistics & Data	5.000	5.000	2.1	10.500	Combined GPA	2.800 Comb Totals	5.000	5.000	5.000	14.000
			Attempted	Earned	GPA Units	<u>Points</u>			Attempted	Earned	GPA Units	Points
Term GPA		2.100 Term Totals	5.000	5.000	5.000	10.500	Cum GPA	3.038 Cum Totals	40.000	40.000	40.000	121.500
Transfer Term	n GPA	Transfer Totals	0.000	0.000	0.000	0.000	Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000
Combined GP	PA	2.100 Comb Totals	5.000	5.000	5.000	10.500	Combined Cum GPA	3.038 Comb Totals	125.000	125.000	40.000	121.500
			Attempted	Earned	GPA Units	<u>Points</u>	Academic Standing Effect	tive 02/15/2007: Good Standing				
Cum GPA		3.117 Cum Totals	30.000	30.000	30.000	93.500		, , , , , , , , , , , , , , , , , , ,				
Transfer Cum	GPA	Transfer Totals	85.000	85.000	0.000	0.000		Spring 200				
Combined Cur	m GPA	3.117 Comb Totals	115.000	115.000	30.000	93.500	<u>Course</u>	Description	Attempted	Earned	<u>Grade</u>	<u>Points</u>
Academic Sta	ndina Effecti	ve 05/15/2006: Good Standing					BSC 400	Decision Modeling And Analysis	5.000	0.000	W	0.000
	9	,							<u>Attempted</u>	Earned	<b>GPA Units</b>	<u>Points</u>
		Spring 200			0 1	B	Term GPA	0.000 Term Totals	5.000	0.000	0.000	0.000
<u>Course</u>	200	<u>Description</u>	<u>Attempted</u>	<u>Earned</u>	<u>Grade</u>	Points	Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000
ВС	306	Ethics:Theory And Practice	5.000	5.000	2.8	14.000	Combined GPA	0.000 Comb Totals	5.000	0.000	0.000	0.000

# CITYU OF SEATTLE UGRD OFFICIAL TRANSCRIPT

Name: Thomas,Iris 'Risa' M.

		Attempted	Earned	GPA Units	<u>Points</u>	Academic Standing Effect	ive 02/24/2009: Good Standing				
Cum GPA	3.038 Cum Totals	45.000	40.000	40.000	121.500						
Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000	<u>Course</u>	Winter 200 Description	08-2009 Attempted	Earned	<u>Grade</u>	Points
Combined Cum GPA	3.038 Comb Totals	130.000	125.000	40.000	121.500	BSC 407	The Effective Organization	5.000	5.000	3.3	16.500
Academic Standing Effect	tive 08/14/2008: Good Standing						Organization	Attempted	Earned	GPA Units	Points
	0 0					Term GPA	3.300 Term Totals	5.000	5.000	5.000	16.500
Course	Summer 20 Description	Attempted	Earned	Grade	<u>Points</u>	Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000
BSC 401	Interpretatn Of Fncl Statemnts	5.000	5.000	2.1	10.500	Combined GPA	3.300 Comb Totals	5.000	5.000	5.000	16.500
		Attempted	Earned	GPA Units	<u>Points</u>			Attempted	Earned	GPA Units	<u>Points</u>
Term GPA	2.100 Term Totals	5.000	5.000	5.000	10.500	Cum GPA	2.970 Cum Totals	55.000	50.000	50.000	148.500
Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000	Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000
Combined GPA	2.100 Comb Totals	5.000	5.000	5.000	10.500	Combined Cum GPA	2.970 Comb Totals	140.000	135.000	50.000	148.500
		Attempted	Earned	GPA Units	<u>Points</u>	Academic Standing Effect	ive 05/14/2009: Good Standing				
Cum GPA	2.933 Cum Totals	50.000	45.000	45.000	132.000						
Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000	Course	Summer 20 Description	09-2010 Attempted	Earned	<u>Grade</u>	Points
Combined Cum GPA	2.933 Comb Totals	135.000	130.000	45.000	132.000	BSM 407	Business Economics	5.000	5.000	3.8	19.000
Academia Standing Effect	tive 11/17/2008: Good Standing						Dubinious Eschichnics	Attempted	Earned	GPA Units	Points
Academic Standing Effect	live 11/11/2000. Good Standing					Term GPA	3.800 Term Totals	5.000	5.000	5.000	19.000
	Fall 2008	8-2009				Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000
Course	<u>Description</u>	Attempted	<u>Earned</u>	<u>Grade</u>	<u>Points</u>	Combined GPA	3.800 Comb Totals	5.000	5.000	5.000	19.000
BSC 402	Financing Organizations	0.000	0.000	0.0	0.000	Combined Crit	ologo comb rotale				
Repeated:	Prior Attempt							<u>Attempted</u>	<u>Earned</u>	GPA Units	<u>Points</u>
		<u>Attempted</u>	Earned	GPA Units	<u>Points</u>	Cum GPA	3.045 Cum Totals	60.000	55.000	55.000	167.500
Term GPA	0.000 Term Totals	0.000	0.000	0.000	0.000	Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000
Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000	Combined Cum GPA	3.045 Comb Totals	145.000	140.000	55.000	167.500
Combined GPA	0.000 Comb Totals	0.000	0.000	0.000	0.000	Academic Standing Effect	ive 11/17/2009: Good Standing				
		Attempted	Earned	GPA Units	<u>Points</u>						
Cum GPA	2.933 Cum Totals	50.000	45.000	45.000	132.000						
Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000						
Combined Cum GPA	2.933 Comb Totals	135.000	130.000	45.000	132.000						

# CITYU OF SEATTLE UGRD OFFICIAL TRANSCRIPT

Name: Thomas,Iris 'Risa' M.

		Fall 2009	2-2010									
Course		<u>Description</u>	Attempted	Earned	<u>Grade</u>	<u>Points</u>			<u>Attempted</u>	<u>Earned</u>	GPA Units	<u>Points</u>
BSC	402	Financing	5.000	5.000	2.2	11.000	Term GPA	3.700 Term Totals	5.000	5.000	5.000	18.500
Repeated:		Organizations Repeated					Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000
IS	330	Information Systems	5.000	5.000	3.6	18.000	Combined GPA	3.700 Comb Totals	5.000	5.000	5.000	18.500
			<u>Attempted</u>	Earned	GPA Units	<u>Points</u>			Attempted	Earned	GPA Units	Points
Term GPA		2.900 Term Totals	10.000	10.000	10.000	29.000	Cum GPA	3.127 Cum Totals	80.000	75.000	75.000	234.500
Transfer Term	GPA	Transfer Totals	0.000	0.000	0.000	0.000	Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000
Combined GPA	A	2.900 Comb Totals	10.000	10.000	10.000	29.000	Combined Cum GPA	3.127 Comb Totals	165.000	160.000	75.000	234.500
			Attempted	Earned	GPA Units	<u>Points</u>	Academic Standing Effective	ve 08/16/2010: Good Standing				
Cum GPA		3.023 Cum Totals	70.000	65.000	65.000	196.500	7 Isaaciiilo Starianiig Ericeiii	70 00/ 10/2010: 0000 Olananig				
Transfer Cum (	GPA	Transfer Totals	85.000	85.000	0.000	0.000		Summer 20	10-2011			
Combined Curr	n GPA	3.023 Comb Totals	155.000	150.000	65.000	196.500	Course	Description	Attempted	Earned	<u>Grade</u>	<u>Points</u>
			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				BSM 495	Business Strategy	5.000	5.000	2.8	14.000
Academic Stan	nding Effecti	ve 02/16/2010: Good Standing							<u>Attempted</u>	<u>Earned</u>	GPA Units	<u>Points</u>
		Wint 200	0.2010				Term GPA	2.800 Term Totals	5.000	5.000	5.000	14.000
Course		Description VVIIII 2005	Attempted	Earned	Grade	Points	Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000
BSC	403	Legal Issues In The	5.000	5.000	3.9	19.500	Combined GPA	2.800 Comb Totals	5.000	5.000	5.000	14.000
		Workplace							Attempted	Earned	GPA Units	Points
			<u>Attempted</u>	Earned	GPA Units	<u>Points</u>	Cum GPA	3.106 Cum Totals	85.000	80.000	80.000	248.500
Term GPA		3.900 Term Totals	5.000	5.000	5.000	19.500		7 77 77			0.000	0.000
Transfer Term	GPA	Transfer Totals	0.000	0.000	0.000	0.000	Transfer Cum GPA	Transfer Totals	85.000	85.000		
Combined GPA	A	3.900 Comb Totals	5.000	5.000	5.000	19.500	Combined Cum GPA	3.106 Comb Totals	170.000	165.000	80.000	248.500
			Attempted	Earned	GPA Units	Points	Academic Standing Effective	ve 10/13/2010: Good Standing				
Cum GPA		3.086 Cum Totals	75.000	70.000	70.000	216.000	Undergraduate Career Tota	ale				
Transfer Cum (	GPA	Transfer Totals	85.000	85.000	0.000	0.000	Cum GPA:	3.106 Cum Totals	85.000	80.000	80.000	248.500
Combined Curr		3.086 Comb Totals	160.000	155.000	70.000	216.000	Transfer Cum GPA	Transfer Totals	85.000	85.000	0.000	0.000
		05/47/0040 0 104 15					Combined Cum GPA	3.106 Comb Totals	170.000	165.000	80.000	248.500
Academic Stan	nding Effecti	ve 05/17/2010: Good Standing										
		Spring 200	19-2010				E	nd of CITYU OF SEATTLE UG	RD OFFICIAL TR	ANSCRIPT		
Course		<u>Description</u>	Attempted	Earned	<u>Grade</u>	<u>Points</u>						
BSM	405	Operations Management	5.000	5.000	3.7	18.500						

# CITYU OF SEATTLE GRCT OFFICIAL TRANSCRIPT

Name: Thomas,Iris 'Risa' M.

Print Date:	01/25/2024								Attempted	Earned	GPA Units	<u>Points</u>
Fillit Date.	01/25/2024					Cum GPA		3.350 Cum Totals	10.000	10.000	10.000	33.500
Degree:	Degrees A Undergraduate Certificate	warded				Transfer Cum G	PA	Transfer Totals	0.000	0.000	0.000	0.000
Confer Date:	03/31/2008					Combined Cum	GPA	3.350 Comb Totals	10.000	10.000	10.000	33.500
Degree GPA: Plan:	3.220 Marketing											
Degree:	Bachelor of Science					Academic Stand	ing Effecti	ive 08/15/2007: Good Standing				
Confer Date: Degree GPA:	09/30/2010 3.105							Summer 20	07-2008			
Plan:	<b>Business Administration Major</b>					Course		<u>Description</u>	Attempted	Earned	<u>Grade</u>	<u>Points</u>
Plan:	Marketing Emphasis					AC	215	Fundamentals Of Accounting	5.000	0.000	W	0.000
						MK	386	Marketing Research	5.000	5.000	2.1	10.500
	Beginning of Undergradu	ate Certificate Re	cord						<u>Attempted</u>	Earned	GPA Units	<u>Points</u>
	Winter 200					Term GPA		2.100 Term Totals	10.000	5.000	5.000	10.500
Course	<u>Description</u>	Attempted	Earned	<u>Grade</u>	Points	Transfer Term G	PA	Transfer Totals	0.000	0.000	0.000	0.000
MK 388	International  Marketing	5.000	5.000	3.4	17.000	Combined GPA		2.100 Comb Totals	10.000	5.000	5.000	10.500
	·	Attempted	Earned	GPA Units	Points				Attempted	Earned	GPA Units	<u>Points</u>
Term GPA	3.400 Term Totals	5.000	5.000	5.000	17.000	Cum GPA		2.933 Cum Totals	20.000	15.000	15.000	44.000
Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000	Transfer Cum G	DΔ	Transfer Totals	0.000	0.000	0.000	0.000
Combined GPA	3.400 Comb Totals	5.000	5.000	5.000	17.000	Combined Cum		2.933 Comb Totals	20.000	15.000	15.000	44.000
		1.1		004113	5.11				20.000	13.000	13.000	44.000
		Attempted	Earned	GPA Units	<u>Points</u>	Academic Stand	ling Effecti	ive 08/15/2007: Good Standing				
Cum GPA	3.400 Cum Totals	5.000	5.000	5.000	17.000			Fall 2007	-2008			
Transfer Cum GPA	Transfer Totals	0.000	0.000	0.000	0.000	Course		Description Pall 2007	Attempted	Earned	<u>Grade</u>	<u>Points</u>
Combined Cum GPA	3.400 Comb Totals	5.000	5.000	5.000	17.000	MK	400	Marketing Strategy	5.000	5.000	3.3	16.500
Academic Standing Eff	ective 08/16/2007: Good Standing								<u>Attempted</u>	Earned	GPA Units	<u>Points</u>
						Term GPA		3.300 Term Totals	5.000	5.000	5.000	16.500
Course	Spring 200 Description	06-2007 Attempted	Earned	Grade	Points	Transfer Term G	PA	Transfer Totals	0.000	0.000	0.000	0.000
MK 390		5.000	5.000	3.3	16.500	Combined GPA		3.300 Comb Totals	5.000	5.000	5.000	16.500
	-	Attempted	Earned	GPA Units	<u>Points</u>				Attempted	Earned	GPA Units	Points
Term GPA	3.300 Term Totals	5.000	5.000	5.000	16.500	Cum GPA		3.025 Cum Totals	25.000	20.000	20.000	60.500
Transfer Term GPA	Transfer Totals	0.000	0.000	0.000	0.000	Transfer Cum G	PA	Transfer Totals	0.000	0.000	0.000	0.000
Combined GPA	3.300 Comb Totals	5.000	5.000	5.000	16.500	Combined Cum		3.025 Comb Totals	25.000	20.000	20.000	60.500
								2.220 000 100	20.000	20.000	20.000	00.000

# CITYU OF SEATTLE GRCT OFFICIAL TRANSCRIPT

Name: Thomas,Iris 'Risa' M.

Student ID: 20050336

Academic Standing Effective 02/15/2008: Good Standing

		Winter 200	07-2008				
Course	<u>D</u> e	escription escription	Attempted	Earned	<u>Grade</u>	<u>Points</u>	
MK 4		arketing And The	5.000	5.000	4.0	20.000	
	In	ternet					
			Attempted	Earned	GPA Units	<u>Points</u>	
Term GPA	4.000	Term Totals	5.000	5.000	5.000	20.000	
Transfer Term GPA		Transfer Totals	0.000	0.000	0.000	0.000	
Combined GPA	4.000	Comb Totals	5.000	5.000	5.000	20.000	
			Attempted	Earned	GPA Units	<u>Points</u>	
Cum GPA	3.220	Cum Totals	30.000	25.000	25.000	80.500	
Transfer Cum GPA		Transfer Totals	0.000	0.000	0.000	0.000	
Combined Cum GPA	3.220	Comb Totals	30.000	25.000	25.000	80.500	
Academic Standing Effective 05/16/2008: Good Standing							
Undergraduate Certi	ficate Career To	otals					
Cum ĞPA:	3.220	Cum Totals	30.000	25.000	25.000	80.500	
Transfer Cum GPA		Transfer Totals	0.000	0.000	0.000	0.000	
Combined Cum GPA	3.220	Comb Totals	30.000	25.000	25.000	80.500	

End of CITYU OF SEATTLE GRCT OFFICIAL TRANSCRIPT



#### **HISTORY**

City College was founded in 1973 in Seattle, Washington. City College was renamed City University, effective 6/25/1982. On 3/1/2007 it was renamed City University of Seattle, and is officially abbreviated as CityU.

#### **ACCREDITATION**

City University of Seattle is accredited by the Northwest Commission on Colleges and Universities (NWCCU).

### **CALENDAR AND CREDIT SYSTEMS**

CityU's academic year consists of four quarters. One CityU credit is equivalent to one standard quarter credit.

### TRANSCRIPT FORMAT AND HISTORICAL CREDITS

Credits earned at CityU prior to 1998 that were recorded in an earlier student database are labeled "Transfer credit from City University." Effective 7/1/2005, CityU transcripts were documented separately into five academic careers: undergraduate/graduate degree, undergraduate/graduate certificate, and continuing education. Effective 7/1/2007, transcripts were documented separately into three academic careers: undergraduate, graduate, and continuing education. Effective 7/1/2013, transcripts were documented separately into four academic careers: undergraduate, graduate, doctoral, and continuing education. Listed sequentially within each separate career are transfer credit, degrees awarded, and courses by term chronologically. Non-academic credit courses are in a separate category. Note: Some courses are allowed to count in more than one career. These courses are occasionally transferred internally and may appear in multiple careers. Cumulative credit from such courses is calculated only once.

#### TRANSFER CREDIT

CityU grants academic credit and advanced standing toward programs for (1) appropriate courses completed satisfactorily at other recognized institutions, (2) acceptable scores on standardized examinations in college-level subjects, and (3) completion of formal non-collegiate-sponsored instructional programs as evaluated by the American Council on Education (ACE) and other agencies.

### **SCHOLASTIC STATUS NOTATIONS**

- Good Standing: Minimum cumulative GPA is 2.0 undergraduate level and 3.0 graduate/doctoral level.
- Academic Warning: Below Good Standing and student allowed two terms to raise cumulative GPA.
- Probation: Below Good Standing and student allowed one more term to raise cumulative GPA.
- Suspended: Below Good Standing for two consecutive terms. Student is suspended on third term.
- Provisionally Readmitted: Student previously suspended academically and re-admitted with conditions.
- Dismissed: Student is dismissed from the academic program.
- Dean's List: Awarded by full-time term only. As of 7/1/2015, undergraduate students must complete at least 10 decimally graded credits and earn a 3.5 term GPA and graduate students must complete at least 6 decimally graded credits and earn a term GPA of 3.8. Prior to 7/1/2015, undergraduates who hold 30 credits and have earned minimum 3.5 term GPA; graduates who hold 18 credits and have earned minimum 3.75 term GPA.
- Presidential Honors: Graduate degree earned with minimum 3.9 cumulative GPA.
- Latin Honors: For Bachelor degrees only, as of 7/1/2007, by school: *summa cum laude* top 2%; *magna cum laude* top 5%; *cum laude* top 10%. As of 4/1/2015, all Latin Honors were set for all schools: *summa cum laude* 3.9; *magna cum laude* 3.8; *cum laude* 3.7.

## **COURSE NUMBERING SYSTEM**

Undergraduate, lower-division: any course number beginning with 1 or 2 Undergraduate, upper-division: any course number beginning with 3 or 4

Graduate: any course number beginning with 5 or 6 Doctoral: any course number beginning with 6 or 7

Continuing Education: any course number beginning with 9

### **GRADING SYSTEM**

Beginning with fall term 1980, CityU instituted a decimal grading system for all courses.

**TO TEST FOR AUTHENTICITY**: Translucent globe icons *MUST* be visible from both sides when held toward a light source. The face of this transcript is printed on blue SCRIP-SAFE® paper with the name of the institution appearing in white type over the face of the entire document.

CITY UNIVERSITY OF SEATTLE • CITY UNIVERSITY

**ADDITIONAL TESTS:** The institutional name and the word COPY appear on alternate rows as a latent image. When this paper is touched by fresh liquid bleach, an authentic document will stain brown. A black and white or color copy of this document is not an original and should not be accepted as an official institutional document. This document cannot be released to a third party without the written consent of the student. This is in accordance with the Family Educational Rights and Privacy Act of 1974. If you have any questions about this document, please contact our office at 800-426-5596. ALTERATION OF THIS DOCUMENT MAY BE A CRIMINAL OFFENSE!

181063 SCRIP-SAFE® Security Products, Inc. Cincinnati, OH

#### **GRADE POINT AVERAGE (GPA)**

Decimal grades are calculated into GPA; alpha grades do not calculate. **Notes**: Effective 7/1/2007, Continuing Education (CE) credits are not applied to degree or certificate programs except through articulation or partnership delivery. If applied, CE credits do not calculate into GPA. From 7/1/2005 to 6/30/2007, CE credits applied to degree and certificate programs and calculated into GPA. Prior to 7/1/2005 CE credit applied to degree and certificate programs and did not calculate into GPA.

#### ALPHABETIC DEFINITIONS

- I Incomplete
- K Scholastic honesty (temporary grade pending hearing; used only from 1973 through 2020)
- P Pass (minimum undergraduate course 2.0; graduate/doctoral course 3.0)
- N Temporary status indicator (used for English Language Program courses)
- NP No Pas
- R Temporary status indicator for dissertation coursework (used only in the doctoral program)
- TC Transfer credit
- UW Unofficial Withdrawal
- V Vanished (used only from 1993 through 2003)
- W Withdrawal
- X Audit
- Y Temporary grade
- Z Course interrupted by military service assignment (used until 6/30/2016)

### **GRADING SCALE**

The below grading scale is effective as of 1/1/2022. For grading systems used prior to this date, please refer to appropriate University catalogs. According to University policy, grades and GPA are not rounded.

ppropriate offiversity catalogs. According to offiversity policy, grad									
Percentage	Decimal Grade	П	Percentage	Decimal Grade					
100.0 - 98.75	4.0		82.49 - 81.25	2.6					
98.74 - 97.50	3.9		81.24 - 80.00	2.5					
97.49 - 96.25	3.8		79.99 - 78.75	2.4					
96.24 - 95.00	3.7		78.74 - 77.50	2.3					
94.99 - 93.75	3.6		77.49 - 76.25	2.2					
93.74 - 92.50	3.5		76.24 - 75.00	2.1					
92.49 - 91.25	3.4		74.99 - 73.75	2.0					
91.24 - 90.00	3.3		73.74 - 72.50	1.9					
89.99 - 88.75	3.2		72.49 - 71.25	1.8					
88.74 - 87.50	3.1		71.24 - 70.00	1.7					
87.49 - 86.25	3.0		69.99 - 68.75	1.6					
86.24 - 85.00	2.9		68.74 - 67.50	1.5					
84.99 - 83.75	2.8		67.49 - 66.25	1.4					
83.74 - 82.50	2.7		66.24 - 65.00	1.3					

Percentage	Decimal Grade
64.99 - 63.75	1.2
63.74 - 62.50	1.1
62.49 - 61.25	1.0
61.24 - 60.00	0.9
59.99 - 58.75	0.8
58.74 - 57.50	0.7
57.49 - 56.25	0.6
56.24 - 55.00	0.5
54.99 - 53.75	0.4
53.74 - 52.50	0.3
52.49 - 51.25	0.2
51.24 - 50.00	0.1
49.99 – 0.00	0.0

### MINIMUM PASSING GRADE FOR CREDIT

Effective Date	Undergraduate	Graduate	Doctoral
7/1/2018	0.7	2.0	2.4
7/1/2015	0.7	2.0	2.0
7/1/1973	0.7	1.6	N/A

Revised 2/3/22